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This research propose a stochastic defined benefit pension funding model which its
investment rates of return are presented in the form of Autoregressive Moving Average (1,1)
(ARMA(L,1)).  addition, the stochastic pension funding model and the deterministic
pension funding model are compared. Moreover, data are simulated from the pension
funding model of ARMA (1,1) in order to study the convergence of the expected value and
variance of fund and contribution.

The pension funding model of ARMA(L,1) is similar to the model of Autoregressive(l)
(AR(L)) and Moving Average(1)(MA(L)). Deterministic pension funding model gives the
forecasted constant funding value while the forecasted fund from the stochastic model
depends on the expected value and variance of the model.  reality the interest rate is vary
from time to time, then the results derived by using the stochastic model are better than
those derived from the deterministic model.
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